KYUNGPOOK Math. J. 46(2006), 573-580

Oscillations of Difference Equations with Several Terms

Ozkan Ocalan

Afyon Kocatepe University, Faculty of Science and Arts, Department of Mathematics, ANS Campus, 03200, Afyon, Turkey e-mail: ozkan@aku.edu.tr

ABSTRACT. In this paper, we obtain sufficient conditions for the oscillation of every solution of the difference equation

$$x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} + q x_{n-z} = 0, \ n = 0, 1, 2, \cdots,$$

where $p_i \in \mathbb{R}$, $k_i \in \mathbb{Z}$ for $i = 1, 2, \dots, m$ and $z \in \{-1, 0\}$. Furthermore, we obtain sufficient conditions for the oscillation of all solutions of the equation

$$\Delta^r x_n + \sum_{i=1}^m p_i x_{n-k_i} = 0, \ n = 0, 1, 2, \cdots$$

where $p_i \in \mathbb{R}$, $k_i \in \mathbb{Z}$ for $i = 1, 2, \dots, m$. The results are given terms of the p_i and the k_i for each $i = 1, 2, \dots, m$.

1. Introduction

The concept of the oscillatory behavior of solutions of difference equations has been extensively investigated, see [1]-[8] and the reference cited therein. In [7], Ladas established a theorem for the oscillatory behavior of all solutions for the following difference equation

(1.1)
$$x_{n+1} - x_n + px_{n-k} + qx_{n-z} = 0, \quad n = 0, 1, 2, \cdots,$$

where $p, q \in \mathbb{R}$, $k \in \mathbb{Z}$ and $z \in \{-1, 0\}$. In equation (1.1), the case q = 0 was examined in [3], [6], [7].

In [5] is investigated for the oscillatory behavior of the higher order difference equation

$$\Delta^r x_n + p x_{n-k} = 0,$$

where $p \in \mathbb{R}$, $k \in \mathbb{Z}$ and $r \ge 1$. (See also [1]).

In this paper, we obtain sufficient conditions for the oscillation of all solutions of the difference equation

(1.2)
$$x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} + q x_{n-z} = 0 , \quad n = 0, 1, 2, \cdots ,$$

Received January 12, 2005.

2000 Mathematics Subject Classification: 39A10.

Key words and phrases: difference equation, oscillation.

Ozkan Ocalan

where $p_i \in \mathbb{R}$, $k_i \in \mathbb{Z}$ and $z \in \{-1, 0\}$.

In section 3, we obtain sufficient conditions for the oscillation of all solutions of the difference equation

(1.3)
$$\Delta^r x_n + \sum_{i=1}^m p_i x_{n-k_i} = 0 , \ n = 0, 1, 2, \cdots,$$

where $p_i \in \mathbb{R}, k_i \in \mathbb{Z}$ for $i = 1, 2, \cdots, m$.

Let $l = \max\{k, z\}$. Then by a solution of the equation (1.1) we mean a sequence $\{x_n\}$ which is defined $n \ge -l$ and which satisfies equation (1.1) for $n \ge 0$. A solution $\{x_n\}$ of equation (1.1) is said to oscillate if the terms x_n are not eventually positive or eventually negative. Otherwise, the solution is called nonoscillatory.

We need the following lemma, which proved in [4].

Lemma 1.1. We consider the following difference equation

(1.4)
$$x_{n+k} + P_1 x_{n+k-1} + \dots + P_k = 0.$$

Assume that $P_1, P_2, \dots, P_k \in \mathbb{R}^{rxr}$ and that I is the $r \times r$ identity matrix. Then every solution of equation (1.3) oscillates (componentwise) if and only if the characteristic equation

$$\det \left[\lambda^k I + \lambda^{k-1} P_1 + \dots + \lambda P_{k-1} + P_k\right] = 0$$

has no positive roots.

We should remark that, in this paper, we will use the case r = 1 in Lemma 1.1.

2. Sufficient conditions for oscillation of (1.2)

In this section, we obtain sufficient conditions for the oscillation of equation (1.2). The conditions will be given in terms of the p_i , $q \in \mathbb{R}$ and $k_i \in \mathbb{Z}$ for each $i = 1, 2, \dots, m$. Throughout this section we will use the convention that $0^0 = 1$.

Theorem 2.1. Let p_i , $q \in \mathbb{R}$, $k_i \in \mathbb{Z}$ and z = -1 for $i = 1, 2, \dots, m$. Suppose that for $i = 1, 2, \dots, m$, either

(2.1)
$$p_i \ge 0, \ q > 0 \ and \ k_i \in \{0, 1, 2, \cdots\}$$

or

(2.2)
$$p_i \leq 0, \ q \in (-1,0) \text{ and } k_i \in \{\cdots, -3, -2, -1\}.$$

If

(2.3)
$$\sum_{i=1}^{m} p_i (1+q)^{k_i} \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}} > 1,$$

574

then every solution of equation (1.2) oscillates.

Proof. Assume that (2.1) holds. In view of Lemma 1.1, it is enough to prove that the characteristic equation of equation (1.2)

(2.4)
$$f(\lambda) = \lambda - 1 + \sum_{i=1}^{m} p_i \lambda^{-k_i} + q\lambda = 0$$

has no positive roots. It is clear that equation (2.4) has no roots in $[1, \infty)$. Then observe that for $i = 1, 2, \dots, m$, we have

$$\min_{0<\lambda<1} \frac{\lambda^{-k_i}}{1-\lambda(1+q)} = (1+q)^{k_i} \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}},$$

therefore for $0 < \lambda < 1$, we get

$$f(\lambda) = [1 - \lambda(1+q)] \left(-1 + \sum_{i=1}^{m} p_i \frac{\lambda^{-k_i}}{1 - \lambda(1+q)} \right)$$

$$\geq [1 - \lambda(1+q)] \left(-1 + \sum_{i=1}^{m} p_i (1+q)^{k_i} \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}} \right)$$

$$> 0$$

which completes the proof.

Now, assume that (2.2) holds. Then it is clear that equation (2.4) has no roots in (0, 1]. So, we have for $i = 1, 2, \dots, m$,

$$\min_{\lambda>1} \frac{\lambda^{-k_i}}{\lambda(1+q)-1} = -(1+q)^{k_i} \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}}.$$

Hence for $\lambda > 1$, we get

$$f(\lambda) = [\lambda(1+q)-1] \left(1 + \sum_{i=1}^{m} p_i \frac{\lambda^{-k_i}}{\lambda(1+q)-1}\right)$$

$$\leq [\lambda(1+q)-1] \left(1 - \sum_{i=1}^{m} p_i (1+q)^{k_i} \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}}\right)$$

$$< 0$$

which completes the proof.

Corollary 2.2. Let $p_i, q \in \mathbb{R}$, $k_i \in \mathbb{Z}$ and z = -1 for $i = 1, 2, \dots, m$. Assume that either (2.1) or (2.2) holds and suppose that

(2.5)
$$m\left(\prod_{i=1}^{m} |p_i|\right)^{\frac{1}{m}} (1+q)^k \left|\frac{(k+1)^{k+1}}{k^k}\right| > 1,$$

Ozkan Ocalan

where $k = \frac{1}{m} \sum_{i=1}^{m} k_i$. Then every solution of equation (1.2) oscillates.

Proof. Assume that (2.1) holds. Then by using Theorem 2.1 and applying the arithmetic-geometric mean inequality, we conclude that

$$\begin{aligned} f(\lambda) &= \left[1 - \lambda(1+q)\right] \left(-1 + \sum_{i=1}^{m} p_i \frac{\lambda^{-k_i}}{1 - \lambda(1+q)}\right) \\ &\geq \left[1 - \lambda(1+q)\right] \left[-1 + m \left(\prod_{i=1}^{m} p_i\right)^{\frac{1}{m}} \frac{\lambda^{-k}}{1 - \lambda(1+q)}\right] \\ &\geq \left[1 - \lambda(1+q)\right] \left[-1 + m \left(\prod_{i=1}^{m} p_i\right)^{\frac{1}{m}} (1+q)^k \frac{(k+1)^{k+1}}{k^k}\right] \\ &> 0 \end{aligned}$$

and so the proof is complete. The proof when (2.2) holds is similar and will be omitted. $\hfill\square$

Now, by using similar idea in the proofs of the Theorem 2.1 and Corollary 2.2 the following results follows immediately. So we only state them without their proofs.

Theorem 2.3. Let $p_i, q \in \mathbb{R}$, $k_i \in \mathbb{Z}$ and z = 0 for $i = 1, 2, \dots, m$. Suppose that for $i = 1, 2, \dots, m$, either

(2.6)
$$p_i \ge 0, q \in (0,1) \text{ and } k_i \in \{0,1,2,\cdots\}$$

or

(2.7)
$$p_i \leq 0, q < 0 \text{ and } k_i \in \{\cdots, -3, -2, -1\}.$$

If

$$\sum_{i=1}^{m} p_i (1-q)^{k_i+1} \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}} > 1,$$

then every solution of equation (1.2) oscillates. Furthermore, suppose that $p_i \ge 0, q \ge 1, z = 0$ and that $p_i \le 0, q \le -1, z = 0$ for $i = 1, 2, \dots, m$, respectively. Then every solution of equation (1.2) oscillates.

Corollary 2.4. Assume that (2.6) or (2.7) holds and that z = 0. If

$$m\left(\prod_{i=1}^{m} |p_i|\right)^{\frac{1}{m}} (1-q)^{k+1} \left|\frac{(k+1)^{k+1}}{k^k}\right| > 1,$$

where $k = \frac{1}{m} \sum_{i=1}^{m} k_i$, then every solution of equation (1.2) oscillates.

576

Now, we have the following results.

Corollary 2.5. Let $p_i \ge 0$, $q \in (-1, 0)$, $k_i \in \mathbb{N}$ and z = -1. If (2.3) or (2.5) holds, then every solution of equation (1.2) oscillates.

Corollary 2.6. Let $p_i \ge 0, q < 0, k_i \in \{0, 1, 2, \dots\}$ for $i = 1, 2, \dots, m$ and let z = 0. If

$$\sum_{i=1}^{m} p_i \frac{1}{(1+q)^{k_i+1}} \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}} > 1,$$

then every solution of equation (1.2) oscillates.

Corollary 2.7. Let $p_i \leq 0, q > 0, k_i \in \{\cdots, -2, -1\}$ for $i = 1, 2, \cdots, m$ and let z = -1. If (2.3) or (2.5) holds, then every solution of equation (1.2) oscillates.

3. Sufficient conditions for oscillation of (1.3)

In this section, we provide a sufficient conditions for the oscillation of every solution of higher-order difference equation (1.3). The conditions will be given in terms of p_i and k_i for each $i = 1, 2, \dots, m$.

Theorem 3.1. Let $p_i \in \mathbb{R}$ and $k_i \in Z$ for $i = 1, 2, \dots, m$ and let r is an odd positive integer. Assume that for $i = 1, 2, \dots, m$, either

(3.1)
$$p_i \ge 0 \text{ and } k_i \in \{0, 1, 2, \cdots\}$$

or

(3.2)
$$p_i \leq 0 \text{ and } k_i \in \{\cdots, -(r+1), -r\}.$$

If

(3.3)
$$\sum_{i=1}^{m} p_i \frac{(k_i + r)^{(k_i + r)}}{k_i^{k_i}} > r^r,$$

then every solution of equation (1.3) oscillates.

Proof. We will assume that (3.1) holds. In view of Lemma 1.1, it suffices to prove that the characteristic equation of (1.3)

(3.4)
$$f(\lambda) = (\lambda - 1)^r + \sum_{i=1}^m p_i \lambda^{-k_i} = 0$$

has no positive roots. Then equation (3.4) has no roots in $[1, \infty)$. Consider the function g defined by $g(\lambda) = \frac{\lambda^{-k_i}}{(\lambda - 1)^r}$. Then observe that $g'(\frac{k_i}{k_i + r}) = 0$ and $g''(\frac{k_i}{k_i + r}) < 0$. Therefore we get

$$\max_{0 < \lambda < 1} \frac{\lambda^{-k_i}}{(\lambda - 1)^r} = \left(-\frac{1}{r^r}\right) \frac{(k_i + r)^{(k_i + r)}}{k_i^{k_i}}.$$

Hence for $0 < \lambda < 1$, we get

$$f(\lambda) = (\lambda - 1)^r \left[1 + \sum_{i=1}^m p_i \frac{\lambda^{-k_i}}{(\lambda - 1)^r} \right] \\ \ge (\lambda - 1)^r \left[1 - \sum_{i=1}^m p_i \frac{1}{r^r} \frac{(k_i + r)^{(k_i + r)}}{k_i^{k_i}} \right] \\ > 0,$$

which completes the proof when (3.1) holds.

Now, assume that (3.2) holds. Then characteristic equation (3.4) has no positive roots in (0, 1]. Consider the function g defined by $g(\lambda) = \frac{\lambda^{-k_i}}{(\lambda - 1)^r}$. Then observe that $g'(\frac{k_i}{k_i + r}) = 0$ and $g''(\frac{k_i}{k_i + r}) > 0$. Therefore we get

$$\min_{\lambda>1} \frac{\lambda^{-k_i}}{(\lambda-1)^r} = \left(-\frac{1}{r^r}\right) \frac{(k_i+r)^{(k_i+r)}}{k_i^{k_i}}.$$

Hence for $\lambda > 1$, we have

$$f(\lambda) = (\lambda - 1)^{r} \left[1 - \sum_{i=1}^{m} p_{i} \frac{1}{r^{r}} \frac{\lambda_{0}^{-k_{i}}}{(\lambda - 1)^{r}} \right]$$

$$\leq (\lambda - 1)^{r} \left[1 - \sum_{i=1}^{m} p_{i} \frac{1}{r^{r}} \frac{(k_{i} + r)^{(k_{i} + r)}}{k_{i}^{k_{i}}} \right]$$

$$< 0,$$

which completes the proof when (3.2) holds.

Remark 3.2. If we take r = 1 equation (1.3), then condition (3.3) reduces to

$$\sum_{i=1}^m p_i \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}} > 1$$

which is sufficient condition for the oscillation of all solutions of equation

$$x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} = 0, \ n = 0, 1, 2, \cdots$$

Note that this result is obtained by Ladas in [7] (See also [4]).

Theorem 3.3. Assume that (3.1) or (3.2) holds for $i = 1, 2, \dots, m$ and that r is an odd positive integer. If

(3.5)
$$m\left(\prod_{i=1}^{m}|p_i|\right)^{\frac{1}{m}}\left|\frac{(k+r)^{k+r}}{k^k}\right| > r^r,$$

578

where $k = \frac{1}{m} \sum_{i=1}^{m} k_i$, then every solution of equation (1.3) oscillates.

Proof. Assume that (3.1) holds. In view of Lemma 1.1, it suffices to prove that the characteristic equation (3.4) has no positive roots. Then by Theorem 3.1, the characteristic equation (3.4) has no positive roots in $[1, \infty)$. By taking into consideration equation (3.4) for $0 < \lambda < 1$ and using arithmetic-geometric mean inequality, we get

$$f(\lambda) = (\lambda - 1)^r \left[1 + \sum_{i=1}^m p_i \frac{\lambda^{-k_i}}{(\lambda - 1)^r} \right]$$

$$\leq (\lambda - 1)^r \left[1 + m \left(\prod_{i=1}^m p_i \right)^{\frac{1}{m}} \frac{\lambda^{-k}}{(\lambda - 1)^r} \right]$$

$$\leq (\lambda - 1)^r \left[1 - m \left(\prod_{i=1}^m p_i \right)^{\frac{1}{m}} \frac{1}{r^r} \frac{(k+r)^{k+r}}{k^k} \right]$$

$$\leq 0.$$

Then, it yields that equation (1.3) under assumption (3.5) has no positive roots and the proof is complete. The proof when (3.2) holds is similar and is omitted. \Box

Remark 3.4. If we take r = 1 equation (1.3), then condition (3.5) reduces to

$$m\left(\prod_{i=1}^m |p_i|\right)^{\frac{1}{m}} \left|\frac{(k+1)^{k+1}}{k^k}\right| > 1,$$

which is sufficient condition for the oscillation of all solutions of equation

$$x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} = 0, \ n = 0, 1, 2, \cdots$$

Note that this result is obtained by Ladas in [4].

Corollary 3.5. Assume that $p_i > 0$ and $k_i \in Z$ for $i = 1, 2, \dots, m$ and that r is an even positive integer. Then every solution equation (1.3) oscillates if and only if $p_i > 0$ for $i = 1, 2, \dots, m$.

Proof. It is clear that the characteristic equation (1.3) becomes

$$f(\lambda) = (\lambda - 1)^r + \sum_{i=1}^m p_i \lambda^{-k_i} = 0,$$

so we get $f(\lambda) > 0$ for $\lambda > 0$. Therefore by Lemma 1.1, equation (1.3) oscillates if and only if $p_i > 0$ for $i = 1, 2, \dots, m$.

Ozkan Ocalan

References

- [1] R. P. Agarwal, Difference equations and inequalities, Marcel Dekker, New York, 1992.
- [2] R. P. Agarwal, S. R. Grace and D. O'Regan, Oscillation theory for difference and functional differential equations, Kluwer Academic Publishers, 2000.
- [3] K. Gopalsamy, I. Györi and G. Ladas, Oscillations of a class of delay equations with continuous and piecewise constant arguments, Funkcial Ekvac., 32(1989), 395-406.
- [4] I. Györi and G. Ladas, Oscillation theory of delay differential equations with applications, Clarendon Press, Oxford, 1991.
- [5] G. Ladas and C. Qian, Comparison results and linearized oscillations for higher order difference equations, Internat. J. Math. & Math. Sci., 15(1992), 129-142.
- [6] G. Ladas, Oscillations of a equations with piecewise constant mixed arguments, Proceedings, International Conference on Differential Equations and Population Biology, Ohio University, March 21-25, New York, 1988.
- [7] G. Ladas, Explicit conditions for the oscillation of difference equations, Journal of Mathematical Analysis and Applications, 153(1990), 276-287.
- [8] G. Ladas, Ch. G. Philos and Y. G. Sficas, Necessary and sufficient conditions for the oscillation of difference equation, Libertas Mathematica, 9(1989), 121-125.